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If the difference between C.I. and S.1. for 2 years at 5% per annum is equal to
25. What is the sum of money?

afe ufd a9 5% TR 2 94 & fo1T Ieh gl SATST 3R IR <11 & o DT 3R 25
b SRIER g | YRR 1 872

a) . 25000
b) . 10000
C) . 12000

d ) . 20000
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A spherical ball of radius 14 cm is melted and recast into small spherical balls of
radius 7 cm each, in this process 20% of the material waste, then find how
many complete small spherical balls can be made?

14 99 3501 91 U MAaTeR T &l [Auarar 9dr g 3R 39 7 99t Bsar ard @i
MAIPR el § g=: [ foar Sirdr e, 539 uidhar 6 uard &1 20% =¥ gl Sildl o, dl
1 IO [ fbd- gul BIC MATPR el DI g1 Sl Jbdl 672

a)
b)
C)
d)
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A father is 7 times his son's age. After 4 years the sum of their ages will be 56.
Present age of son is

U Ul 3{U- A Dl 3 D1 7 TA1 ¢ | 4 98 €16 3P| 3G DI RT 56 S| dl YA

DI IAHM 3T 15?2
3 ) years
b) years
C) years

d) years
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Aysha completes a piece of work in 10 days. She works for 6 days and leaves.
The remaining work is done by Suman in 2 days . In how many days can

Suman complete the work alone?
3R Uh H1H Bl 10 fal § 1 HR bl g, 98 6 fad i Dl g 3R [h HH

[ T4

OIS adl o, Y HH U gRT 2 &A1 1 ORI fhar Srdr ¢ | ga= 3{dhd S| &l fdba-
{1 H URT ®R bl g2

a) days
b) days
C) ) days

d) days
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A pipe can fill a tank in 4 hours, but due to leakage at the bottom it takes 1 hour
more to fill the tank. In how much time will the leakage empty a completely filled
tank?

U U159 4 °¢ H TP ¢ Dl U APl g, Al dd H R & HRUI ¢ Pl HH H
1 4T 31feIh TvraT o | Ramd fdba T9g § U U3 aRg o HR < Bl @Il HR Qil?

a)  hrs
b) 'hrs
C) | hrs

d) s
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Which of the following option is completely divisible by 117

FgieiRdd | I &19 91 f[dded 11 J R e I AU 572

3 ) 7604
b) 637
C) 6571

d) 7o
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The average of four consecutive even numbers is 27. By adding which number
does the average becomes 28 ?

IR HIITT H TRAT3 DT 3{19d 27 § | [ IG=AT Bl SIS I 31-Ad 28 Bl STl

g7

a) 32
b) 30
c) 3

d)
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Selling one item makes 20% profit. What is the percentage of profit is made if
the item is sold at double selling price.

Uh d¥d &l 99 I 20% AIH BIdl ¢ | 3R 9% @l GRIH [dshd e UR &1 STl © dl
oY T Ufd=Id &1 g2

a) 20
b) 40
c) ©

d) 40




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

A shopkeeper sells a table at a discount of 20% and earns a profit of 60%. If he
sells the same table at 30% discount, then what will be his new profit percent?

Uh GHIGR 20% Pl 9¢ UR Ub Hol addl © 3R 60% DT A HHCI ¢ | AlG a8
31 TS Bl 30% < W dddl &, dl IHBI 44T ATH UId=Id T g2

3 ) %
b) =
c) %

d) =
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A diamond is broken into three parts in the ratio 1 : 2 : 3. The price of a diamond
is directly proportional to the square of its weight. If the price of a diamond
before it is broken is Rs. 64800, then find the loss in the price of the diamond
after it is broken.

UH oR11:2:3 7P A1 & ol fexdl H ¢ Odl g | SR ®I HIHAT I9H YR &
b FHHUI! BIdl & | Afc ¢ o Ugd Bk I HIHAd 64800 YU G, dd ¢ & dla
Ird T fIRIGE J1d DifST|

a) 5. 39600
t)) 5. 57400
C) 5. 42900

d) 5. 36700
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The cost of painting a wall is Rs.40,000 at the rate of Rs.10 per sq.cm. If the
ratio of length to breadth is 8 : 5. Then, what is the length of the wall?

dIAR &1 U DA Pl AR % 10 Uld JH12 Dt & F 2 40,000 7 | Al ofidlg 3R
dISTg I -4ld 8: 5% dl, GldR @ ddlg &l 572

a) ) cm
b) ) cm
C) ) cm
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A 24 m long road can be dug by 18 men in 20 days. What is the length of road
that can be dug by 15 men in 12 days?

18 U¥N| gRI 20 &A1 H 24 Hiex ddl Ys& @id! S Jabeil o | 15 GoNI gRT 12 &l
H @Il Sl Jb- Tl g8d i ddlg (bl o7

a) ) m
b)
C)  m

d) L m
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(3'9- 1) is divisible by?
(310 - 1) fAUTSIIT BRTT?

a)

c)

d) -
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A shopkeeper sells an article at Rs. 2700 after allowing a discount of 25% and
earns a profit of 8%. If no discount is offered, find his profit percentage?

Uh GhHaR 25 UIARIA Pl 9 ¢ & dlg 2700 YU H UP 93 d9dl § AR
8 Ufd=Id &1 a1y 3ffold HRdl gl Afd Dig {e ol al Sirdl g, dl ST A1y Ufdrd

ATd DifoEa?
a) 2%
b) 4%
C) 0%

d) o




